BORILLA oPORTS

Sit Up Bench (10000121)




“PUORILLA oPORTS

Washer: (910) Hex Nut: (M10) Washer: (#8)

/N
© ©
2X Ix 4x

Hex Bolt: (M10%60) Hex Bolt: (M8*16)

M

Inside PAN-HEAN Bolt: (98%50)

——J )
>©Um o)




SPUORILLA oPORTS

Unit weight: 8 KG
Dimensions complete: 120 cm x 32 cm x 60 cm
Maximum loading: 120KG







i

Hex Bolt (M8*16)-4PCS

©

Washer (¢8) —-4PCS




i 3)

Inside PAN-HEAN Bolt (@8%50) —1PCS

Hex Bolt (M10%60)-1PCS

© ©

Washer (¢10) —2PCS Hex Nut (M10)-1PCS




	10000121(安装说明书) Model (1)1
	10000121(安装说明书) Model (1)2
	10000121(安装说明书) Model (1)3
	10000121(安装说明书) 1)
	10000121(安装说明书)2
	10000121(安装说明书)3

